Part B (General Studles)

.k_._i;ﬁ]*vsmr'ésassﬁ : 101-200 | Qurgs wHGuamss : 150
-if‘;_QueStiOHS :101-200 o Total Marks : 150

] 101. Find out the incorrect pairs :

(1) Maharashtré —  Bi-camral legislature
(i) Telangana - = Uni-camral legislature
| (111) Bihar - Uni-camral legislature

| (iv) Andhra Pradesh - Bi- camral legislature

A @, ) and (iii) are incorrect pairs

(B) (i) and (ii) are incorrect pairs
(11) and (111) are incorrect pairs

(D) All are 1ncorr_ect |

(E)' Answer ndt_ khown :

BUDTRT @eaTeis saTL_Hs.

(1) wsryrewgyT = meed FULeTmid
(11) Qg@uﬁwne&w | — QU6 FLLinaTmid |
(111) Ssmr —  @Ueeu FLLDeTmLD
(1v) %(r_r);ﬂfjﬁhyﬁggm —  mI®e &L napib

4) (@), (1) wpmb (iii) seupnar @)eanr
- ®B) () pitd (i) saiprer Geen

(©) (i) wpgd (i) oprer Gever

D) aémmggm seupmen @mmr

(E) éﬂmg Qsflweldama |
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(A) _Leukemia
~ Carcinoma
(E) Answer not known

A) arsCasmilwm
(C) smi@iGammor
(E) e9eni_ leﬂu@ﬂwmw g

103. Match the followmg :
~ National Parks
~(a)  Gir National Park
(b) Corbet National Park
(c) Rajkir National Park
(d) Ranthambore National Park
| @ ®  © (@
a3 4 1 2

®4 3 2 1
wis 4 2 1
™3 2 1 4
(E) Answer not known
QuTBSgIs.
Coflwr yhism
(a) & Csflul yrusm
(b) sri@QuL Csdlw yrsm
(c) @ursydlr @g@mu LBl T
(d) @Uﬁgmgr‘v Gaslwi LBIsT
@ ® © @
A3 4 1 2
®4 3 2 1
© 3 4 2 -1
3 2 1 4
(E) ofen Qsflweiicdana

erldfeflwier Gecvaded LymmCrmus 9.@61!“’@5@@

102. Cancer of the epithelial cells is called

(B) Sarcoma
(D) Lepoma

eTahT) Quuit.

(B) smraCGsmom

R s

(D) uGumom

| States

Rajasthan
Jharkhand
Gujarat
Uttarakhand
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| 4’: ‘Match the following countries with their Mars Mission :

Country Mission
- (a) USA 1
(b) India 2
(c) Japan 3. Zheng He
(d) China 4 TEREX

Mangalyan
Psyche

1 @0 o o

4 1
' 1 3

© 2
D) 4

(E) Ahswef not known

, :

| £gr)asas'm__ ‘fﬁn@asmm Sigen ey Wlayer 2 e QuTmEs)s.

prBsdr o Bagen

(@) w.erev.er wEsOWTET

1

(b) @pdur 2
(c) muurer 3. Zheng He
o 4. TEREX

Psyche

(d) &

@ GO © @
@1l 4 3
®2 1 4
€2 4 3
(D) 4 1 2
- (E) aﬂmL_Gg,‘r'ﬂumS]sbemm

W= W N
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105.. Arrange the followmg events in the Chronologlcal order:

1. Death of Puhthevar
2. Death of Kuyili

3. Death of Kattabomman |
4. Death of Maruthu Brothers o
@) 2,31,4 M2,3,4
© 1,324 (D) 3,1,4,2

| (E) Answer not known |

50@ QsrRssLIULDeter Hlapajsamar aénmmrﬂmgﬁu@ggja.

1. 4esCaeufler @miiLy

2 @uﬁ]@ﬁ]uﬁlm @muiy |

3. slLu@umbwefler @iy

4. wEgeGsnsyiseiar Guiy
@ 2314 (B L1234 -
© 1,3,2,4 D 31,42

(E) eflen Qsfweficdana

106. Who was the First Women Doctor in Tamilnadu?
(A) Moovalur Ramamirdham Muthulakshmi Reddy
(C) Dharmambal (D) Pandithar Ramabai

(E)" Answer not known |
gLﬂQ(EITL_Lq.GOT Q,og,so Quigin Lo@g,gumrr Wi ? | i
@A) @@J@,mrr Unmm&rrgm SR (B) @gg}@ﬁ)l_&ﬁ Qm_q

o

(C) siomburdr ' o (D) uszsmq_gsrr qrru:rrurru_l

| (E) eflen Qzflwefebaney

-t
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(1)
(i1)

(111)

(B)

(E)

()
(id)

(iii)

(&)

(B)

- D)

(®

\Mi) only

@) and (iii) only
© '
o

©

] 507 Which of the following statements about Bhagat Smgh are true‘?

In 1930 Bhagat Smgh attacked the Chittagong armouries

In 1929, Bhagat Singh and B.K. Dutt threw a smoke bomb inside
the Central Legislative Assembly Hall

In 1925, Bhagat Singh formed Hindustan Republican Army

(i) and (ii)» only
(i) and (ii}) only

Answer not known

&Qsan@um &Dg&mﬂ@ UsSEIm Qg,m__r'rurrm gilwman axﬁ)m,r_r)és 5%@@5 :

1930- @w ua;g,zﬂrm AL L& B uam__g,g)mg,mg séder

1929-gev uasg,é]rm 9.0s. sogIL6n @maﬂmg Log,g%]u_l &LL.[J@UIIGU)QJ LB@,
&ar(h oS Semmit '

1925- oy b e LssSAB GBsevsTar Gl Lra uamLemw Hnefan )
(i) v o sft

(1) wHmIb (111) oL (HID &rﬂ

(1) Lo;pguua (11) LDL.@LD L

(11) Lomgnm (111) LDL.@LD El‘ﬂ

eflenL Glg«nﬂfu_l‘@ﬂebm@ ‘
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108, Match the following:

(a) First Five Year Plan
" () Second Five Year Plan
() Third Five Year Plan

' (d) Fourth Five Year Plan

(a)
@ 1
© 3
® 1

®
2
1

)
3

©

3

g

2

4

(@

4
3
4
2

(E) Answer not known

emaumeLaTauhenmLs QLIT(HEE)s.

(@) s BisTE® b

(b) @rermeus ppsT@TE HLbd

(©) epempreug mpsTan® HLn 3.

(d) pransreug mpsTaTH S b

(a)
4 1
® 4
© 3
f(D)'_ 1

() e Qsflueideama

- €CS4T/2022

(b)

2

N

3

Economic stabﬂity

Growth with stability

. Problems of refugees, food shortage ~,

and inflation

. Self-generating economy

1.
2.

4.

32
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109 Arrange ‘the source of revenue of- government of India for the year B
2020-21 in descendmg order

@ GST
(1)) Personal income tax

(1i1) Excise

’ (tv) Corporate tax
b () Customs
| @ (i),'(ii),;(iii)v,_(iv),'(v)'
(B) @), (@), (i), (v), (i)
i), (v), (i), (i), (v)
D) (v), (), (i), @), (v)
(E) Ahswer not known \ ' - o o jff
202021 @0 syamgpsrer @S é{mﬂm aGars wekswd  @oig
s aiflwsiiOsgs. | T

@ GasT E T T SRS SR
(i) sef auporest eufl 5 - L - -

(111) Sreveu

(iv) Ameuer eufl -

V) s e |
() ), @), (i), (v), ()
B @), (), 6), (), i)
O 6,6, 6, 6, ©

D) Gv), @), i), (i), )

(E) At @grﬂmaﬂ@mmi

N RPN - CCS4T/2022
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~110. IfHC.F. of pand ¢gisxand g = xy, ﬁndtheLCMofpan&qfrom
followmg |

A pg
®) gy

(E) AnsWer_ not known

| . D wHmid g-e LBUGLJ@ Qurgl au@EsH x wHmId q Xy eresied, P LD;_r)gjLD q é .-'f
QU WL BIMS eﬁ@gpummmp@aﬂ@pg SIS, N
@& pg | o
® py
(E) aflenL Gg,ﬂu.n@ﬁ]evmo) JL R

111. The length of a rectangle is (3x + 2) unlts and 1ts breadth j
; | (Bx - umts Find its area. (x 20 umts) | o | &

- 35696 sq. units
)- (B) 3956 sq. units
(C) 4256 sq. units
| (D) 5356 sq. units
(E) Ahswer not known
o5 Qeesauasdear Sard (3x + 2) SlwEse LHNID Siger Sisobd (3% — 2) oGS '
erale) SiBST LIFLILIGTENEUS STES. (x 20 aw@am) |
| _ (A) 3596 s. ARG
(B '3956_87—.@{61)_@556” |
e €) 4256 a.é{so'@asm
él | v (D) - 5356 &..éieo@éseitfi S
[ (BE) e Q_g,rﬂ'\u_laﬁlcbmm .
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@A)

B)

(©)

99972
99958
99960

’ \ﬁa"§9962 o
(E) Answer nat known

0 Ssc Quilu wbg @ass e 3, 5, 8 Lo,r_r)gnw 12-a UGS Gurrg,j

! élem_a;@m LBQQ 2 erafleb, uS]a;u Quiflw eba @a)a;a; oT R T TN G| ———— %@m.

(A) 99972
(B) 99958

" (C) 99960

(D) 99962 |
(E) o Asflwefdene |

- 113 The ratio of 435 ; 25 is same as

) 2:1
\ﬂgr’4:1
© 7:5

Uy 7:10

(E) Answer not known

A 450 98 CTeTLISHE FwwTar eildsb.
A 2:1 |

B) 4:1

(C) 7:5

D) 7:10

® ol Asfluciome
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:: 5’:-12 The greatest 5 digits number which, when divided by 3, 5, 8 and 12 have - -
| 2 as a remainder 1s |




114. If 18,a,b, -3 are in Arithmetic pfogr‘e‘ss,“thén'what 1s the 'val‘ue"“*;w
(a+b)? | | - : (1.
(A)— 7 - B 11
m5 | o D) 21
- (E) Answer not known - |

18, a,b, -3 @eau a‘m.@g,@g,m_n aufensufed 2. drang) erafled (a+b) W Loﬁu i

w17 ® 1
© 1B oo

(BE)  efeL Qg;fﬂ@@ﬂéomgn

n _'.1.15‘. A person saved money every yevar half hasv much asm;he could n th 1

8 prev10us year. If he had saved totally ?’7 875 in. 6 years then how muc
did he save in the first year‘? | o e : ‘
(A) 2 3,000 | L V/’: 4,000 R
(C) 74,500 | | {3y % 5,000 ‘, N
(E) Answer not known | '

Q@ [BUIT @@JQ@M@ cs%sm@u) 2ABHE (prasu Qar@h GCsllss @grrsma;uﬂ\
ur@mu_l @guﬂgsaﬂrrprrrr 6 gar@saie et T 7, 675 n& @&Lé]ase?lmrrrr erafled (505 |
%m@ G&L&uq | e | S 1
@) 3000 (B T4000 -
(€ za500 (D #5000
G ICh R
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B
(©)

: D)
-~ (B)
@
®
(®)
(E)

| o

6. The 86t Constltutlonal Amendment Act 2002 has 1ntroduced the |

fundgmental duty under 51 A(K) is :
MTﬂd provide free and compulsory educational'opportunities to all the

children until they attain the age of fourteen.
To value the rich heritage of our composite culture
To defend the country and render national service when called

upon to do so

To protect the natural env1ronment

Answer not known -

. 86- aug) Qsmeﬂua)mmuq BmES565 L1 2002 -@eirig 51 A(K) -@Qé  Ths
- SiguiueL sLaw JNWsLLRSSILL DeTers ?

14 cuwdpE 2o A@asg) @@Emga@a;@m @eeus mmg)Jw ST

a6l eflgge

urpbufw seoriy aﬁwn&sngg;mg, LD‘QQ@U LITGISTESE
Cse ungIsTIADSTS (Eg,meuuu@m@ur@ Gg,suumﬂu_lrrmm g,u.;rrmuﬁl@g,g,w R

Qubas sHOFS Y@L LTHETSSH

aflenL Qg,ﬁ]maﬁ]wm@)

. thl 17 How many pairs are correctly matched?

nu’ Party Symbo —
1. All India Trmamool Congress —  Two Flowers and Grass
2. Nationalist Congress Party _., Clock
3. Telangana Rashtra Samiti. - Car .
4. Asom Gana Parishad ~  Lock and Key
(A) _1 pair (B) 2 pairs
: , 3 pairs | (D) 4 pairs
e (E) Answer not known
o Spse@TuDmIeT aTsman Glaanser sflumsL Qurr@gg,uul;@mmm?
= s8] | femanid
| L. oo @pé,]u Siflenraped srhidlyed - Q@ ysser LoHmID L_L{DHSGTT
2. Gsflueung srhdlyen s 8 - &SLq_GSfTU'LD
3.  Qsgmsrem prey Mu 5184 - e |
4. oeombd sar uflags - Lc_y_(b\ LHHILD mraﬂ
@) 1@wer .. (B) 2 @eamser .
(C) 3 Qenemaeir - (D 4 @evenraer
(E) | e SR

elenL ‘leﬂm@_ﬁ]@mw
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118. Under the duties of the father; what is the duty of the father to hiff
son — as found in the Kural. B
“Thanthai magarkaatrum nandri” _f?

. M/Avaiyil_Munthi irukka Seyal
(B) Selvathil‘Munthirukka Seyal
(C) Kudiperumaiyil Munthiyirukka Seyal
(D) | Neﬁnaiyil Munthi irukka Seyal ?

(E) Answer not known

‘sp@s EpETHHID pal R L e
Grmgpjm Sms@pallar Ly sHOS LDBS@]BS@E QEUJMLD 56@‘51 oTgl? o

_, A smanie pidinsss Qeiisd

- ® Qrorasdo wpHdnmsss Qaisd

-~ (© @quau@mmﬁmm IO BEsE G&uugcb

3 (D) Criranioufler (g);r;g‘,]u.‘.ﬂ@a;as& Q&ng;a) a
(E) ofleorr Qg,ﬂmaﬂwmw

119. The first surveyor of the Archaeological Survey of India (ASI) was
(A) Charles Mason (B) Alexander Burnes
MAleXander Cunningham ' (D) Sir John Marshal
(E) Answer not known | '

@5@”—'5 Q?’"‘“G‘S]UJQ’ Qie|s QJWIDUQGN (50561) :%u_leurrmn
’Y(A) EfoTGUGTU @LDEFGN - e (B) &Qma;grrmn__rr urrarrm) :
R (C) é{@&)as&rrmn_rr a;meaﬂm@mrrm | (D) & gnm mqq@*m ‘

(E) QS]GIDL- @glﬂ'm@ﬁ]wmw- |
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. “India will be a land of many falths equally honoured and respected but

~ of one national outlook” — Who said this?
~ (A) Mahatma Gandhi m awaharlal Nehru
(C) Dr. B.R. Ambedkar (D) Sir Syed Ahmed Khan

(E) Answer not known

“@pﬁmn usoCSGug)J pbOsmsamens  swons  GurHH pHESILEL  GL0E
@mouCsr® @Gy Gg,aﬂu_las a;sm(ﬁmrru_g,mg,as Qararig M&@D crand sdlweui

(A) wsngwom a;rrg@ . .' (B) geuaniamd Crm
(C) Dr.BR. @unGussi (D) st LI ASDFETET

- (B) oL Qsflueoame -

. Which of the followmg statements are correct‘7 e
(@i Rajasthan plains is located to the west of Aravalh range |
(i) Punjab-Haryana plalns hes to the North-East of the Great Indlan

, Desert -
(i11)) Ganga plalns extends from the Yamuna River in the west to

Mizoram in the east
'(iv) Brahmaputra plams 18 located mamly in the state of Meghalaya

(A) (1) (iii) and (iv) only o . (1) and (11) only

(C) (i) and (i11) only - - (D) (i1) and (iv) only

(E) Answer not known

&@asasmn_sug)@]m arepay sAWTeN QUTEAWLIEEET?

(i) @prgevsmer swbeual reaided wawsAsTLHEE Copdld H@bgETaS). |
(i) ugperu-epflurant  sw@esefladt  @pHw LTS 6 @JL&JE@&;G&B
DiaDLDbSIETeTET.

(i) smess swleuefl G’wmaﬂw Lgpear %pm‘ﬂaﬂ@pg a?lgpasaﬂa) LIS]G&H'I)'LD auey
‘ ugedlwjerergl. -

(w) Lﬂqmmug,ﬁu'rr ao@eﬁerﬂuﬁlm Qu@mU@gﬁ GLoasrra)qur@S]sv @{mmpgmmg
I @ 0 6)oppo@uvepe B 0)wopd () veGo

(C) (11) LD}_'DQJLD (111) T TT R (D) (11)‘Lo,r_r)gum (iv) LDL.@L_D‘
®) doogfudoms

39 . ©cCS4Ti2022




122. Match the awards with recognition :
Award , - Recognition
(é) Perumthalaivar 1. Increase enrolment in'school
Kamafaj ar award
(b) Puthumai Palli Award 2. Award for top performers
"(c) " Kanavu Asiriyar Award 3. Irriprpve socio economiéally
' -marginalised student

E (d) Radhakrishhan Award 4. Service of the best teacher
@ ® © @
@a 4 3 1 2
2 3 1 4
3
1

© 1 2 4
_(D)3"4-2"
o (E) Answer not known
| aﬁ]@ggesm LoHYILD am&asrrgg,emg,u Qun@g;gl&s
ellmgiear YT 1) 1 S
(a) Qupbsmeeur STOTe Amzs 1. verefls G&fréscmasd)u fesfssd

(b) usiemw weTed MmE 2. fops Qeweumiyhsrar elma

(¢) sarey AMwir all(mg 3. seps, Qurmennsmy F@una; Qg '
LDTEmT QU T 6T CubuBsgise

(d) Trgm Spayamern 655l 4 g Afuw uafluid Appgl lathiEse

@ ® © O

@ 4 3 1 2
“® 2 3 1 4

S © 1 2 4 3
@3 4 2 1
(E) @Sleom Glg,rﬂumﬁ]somsu

-

o
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112s. . _ is the thought in terms of ‘social, educational and

psychological well being among various cqmmunities.
(A) Comrhunal harmony

B) National integratibn

(C) Women empowerment |

m;mmunity health

 (E) Answer not known

L1 Geugmy &Q,og,nmrm&»@éseﬂmL_Gmumm, seps, SO i 2 eralluied péo ampa|

-Q@grLiiLimer Slpgeer __—————‘amuu@m.

(A sepsnu polamssd
(B) Ggeﬂu_l @rh el

(C) Quesrser apenGanpmLd

(D) swsTw pOL
(E) 1@9@1_ Gglﬂu_laﬁlcbés_)m .

41 . CCS4T/2022
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124. Choose the correct»Pairs%:' e

1. Ondiveeran , = —  Maruthu Brothers

, 2. Gopala Nayak'ar'. - | Dindigul vLeague |

';.- 8. Kuyili | - —  Pulithevar

4. Muthu Vaduga Nathar —  Kalaiyaarkovil Battle

A) 1 and 3 are correct (B) 1 and 2 are correct 1
(C) 2 and 3 are correct | 2 and 4 are correct
(E) - Answer not known |
sfluner Qearsmens Coiay Qsuwis. : % |

. gemgdir g sGarp B

1
2. Gsmure prwést  — - Hain@éad aaxl;L%&)me
3. WS R qsﬂgcé,mﬁ
A. 4. @‘e_‘y,gm@,\sspsrrg,_r'r - a;rrmmwﬁr‘r’ Gamelldy Guimir

(A) ]..II.D[_I.)Q]LB 3 & - o B) 1 wpmb 2 &f

(C) 2 wpmb 3 &f - (D) 2 wpmd 4 &M
(E) e Qsflwedcrana o |

- 125. How does Valluvar compare the wealth of a wise man?
| W Tank brimming with water (B) Ocean

(C) River (D) Lake

(E) Answer not known » o

 @meugielwu  Qsdeud FPSMUSADGL  LWETURI®S  GUET(EpeuT 5 Gam i
- eudGdprr? L NI e SR

@A) emped R TP
© % ., Oe

(). e Qsflueiome

. CCS4T/2022 e 42



6. The threé‘articles which werewamended?by’f»tlfewParliament; of India to

restore State’s power to make'their own OBC lists are
(A) 334, 342A and 366

(B) 338B, 341 and 363

mssB 342A and 366

,(D) 333 341A and 362

(E) AnsWer not known'

Qs |5Lr‘pu|'_t__ m@ulﬂmfr ut'_Lq_u.J‘aoa) wrhleomsGar  swmléE a\élamggmg
| LBl_ug,,ma;rras @rrr)@u_l prrur@wmg)g,ﬁa) Qasrrem@ Q_HJ'I_IL_H_I_ FLL Q@gg,m e%g;asmm_

PSR ATEMIOLILIS SaDIS®ETS g;f,\@g@u_@j |

(A) 334, 342A m@gub 366 :
(B) 338B, 341 wpmd 363

(C) 338B, 342A wppi> 366

(D) 333, 341A wpmid 362

1 (E) |  61€116’65|_ @;_srﬂu_!aﬁlebmmx : i

s Gl CCS4T/2022
gy ETTIRE o [Turn over
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127. Three rivers in Peninsular India that runs from east to west are -
(A) Mahahédi, Godavari and Krishna |
(B) Krishna, Narmada and Tapti
Narmada, Tapti and Mahi
(D) Mahi, Mahanadi axnd. Godévari
(E) Answer not known

Sushu QbW <pmisefled a‘ilgga;é]a) @ mhs CuohE Corsfll umy epermy %@I&SQT

(A) wanpd, (Sasrrg,rrwrﬂ whpid ey
(B) Amayemr, promg wppid sud

- (O) piroms, sug wHmId WAk
(D) wrafl, wsTEH WD CaTSTA
(E) oL Gsfluciomn |

- 128. Identify the correct pa1r1ng

A) Nucle051de - N1trogen base + phosphate

(B) Pyrimidines — Cytosine and sugar
M Purines — Adenine and Guanine

(D) Nucleotide — Nucleoside + sugar

(E) Answer not known

sRlwrer Glenamanuwié asc&vr@@q.

(A) AusaCurems® — @pliger s + LeGUL

(B) 9Bl eraser — emtx;.CSL_r_rélsisf LHID FTES®T

©) lﬂgrﬂc&&ré;m-; é{tormeﬁsisr LDJ_DQ]LD @@‘Jrrmmeisr-
(D) }»ﬁgaaﬂﬁmnmg@\ ﬁgaaﬂ@mnmg(g + a=rra;a;mq
' (E) | eflenL Qg,rﬂu_mﬁlcomsu | |




129

(BE) éﬁlmn_ Qg,lﬂu_:aﬂ@'imm

D) F==r

In Automoblle service stations, the vehlcles are lifted upward using the
Hydraulic Lift, which works based on
(A) Newton’s First law
(B) Newton’s Second law
‘Pascal’s law
(D) All the above

(E) Answer not known

QUTSRTRIGET LIPSl LMTEGLD uewﬂmmma;erﬂa) QUTSETEISEN 6T Q_qurg,g; THhS Qﬁlgﬁuﬁlm
SigliueLd @unigb Sllwd e wisdadr ummu@gguu@ ST ?

A) Pyrafler apge g - -
B) HwrLafer Gremmbd 6l
(C)  umavse e N

(D) Cupsar smasgib

. Whlch of the followmg Equatlon for force is incorrect?
(A) F=mxa o

| F =APxt
o womu)
£

AP

(E) Answer not known

SP&5TEpid FLETUTHSEHET cTEl llenF&ETaT FETLIT M6 ?

&) F=mxa
(B) F=APxt.
© F- m(v—u)
- P .
D) F=—

(E) eflenL Qg;rﬂ@aﬂd)d)@

.4 CCS4Ti2022
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131. Match the folldwing:

(a) Sivasubramanianar

(b) Kattabomman
(c) Marudhu Brothers

(d) Dheeran Chinnamalai

@ H O, @

3 1 4 2
" ®3 4 1 2
©3 1 2 4
."(D).'lz_. 1 3 2

(B ‘_AnSIWer.not known .

 Qurmsss

(a) eﬂm&ﬂgto@&ﬂhmfrr‘f 10

(b) 5|;L_Qumbm_é5f A

(C) (s FCHTHTEET

AW N

(d) Syen Slénanoene

@ ® © O

4 3 1 4 2
® 3 4 1 2
©3 1 2 4
™4 1 3 2

o e

| (E) aﬁ’lm; Qg,rﬂu.léﬁld).m‘a)'

X

“CCS4T/2022

1. Kayathar Fdrt
2 Sahgégiri Fort

3. Nagalapuram

4 vThirupathur Fort

SWSSTY Ga;rrf_a;r_“

srisdf Camen

BT&TLJD

Amrusgnt CamaL
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132 Choose the correct statement:

(i) The Palayakkarars system was in practlce in the Kakatiya Klngdom

(1) Puli Thevar recaptured Nerkattumseval in 1764 after the death of
Khan Sahib. ‘

(i1i) - Yusuf Khan was negotiating with the Palayakkarars, W1thout
informing the company administration was charged with treachery

and hanged in 1764.

(iv) Ondiveeran led one of the army units of Kattabomman.

(A) (), (i) and (iv) are correct

B (), (ii) and (i) are correct

(C) (iii) and (iv) are correct

(D) (i) and (iv) are correct .
(E) - Answer not known

_ &rﬂlurrarr ah,rj)mrmg Gg;ﬁm QewiwayLb.
() ureerwssTyT pen a;rrasa;g,ﬁmu Gumy&]m g)ml_@eo),rpuﬁlco Q®bHss.
(1) smer Frdrnder @mutﬁlm@uﬁlm gcﬁlgGgmrr Q595L®m GEQJG&DGI) 1764- @6\)

e (B\b ma;uu;_ngﬂmnn

(1ii) swEue @rrmrresg,élm@g g;a;msu ce){e;r‘ﬂa;asrma) - unevaTwésTTIECeT
Cuéseurisaguiley FHULLSTD Welisren gu@rmaﬁ] eTeTm (GO a}mg,guu._(b\

1764@e gﬂ&@G&LUUl—I_ITH

(1v) gqamgeiyer s Qumbwaiier ueLudfejsalldr geatens smwmwCupm
aufiBLSlemmir. |

&) (@), () wppd (1v) Pfuae sf
B) (1) (11) HmID (111) é;g,aﬂu_:mm mﬂ .
| (C) | (111) wimid (iv) cgg_:oa‘,]u_lmm Glﬂ |
- (D) (1); b (iv) < Sume ol
(E) oL Asfucddma

o CCS4T/2022




133. Match the correct classification of land during the Gupté period.

(a) Kshetra | 1. Wasteland

(b) Khila 2. Cultivable land
() Aprakata 3. Habitable land
(d) Vaéti 4. Jungle land

@ ®» © @
@1 2 3
®4 2 1
wﬁ 1 4
s 4 1

(E) Answer,r‘mt kndwn

D w0 N

@ug,rr a;rrcogfé)m gﬁla)rﬁjsa)m eﬁgpa;asam_mmgn_m sflwre Qun@gﬁ@&s

(a) Gegyr . L sis few
| (b) Haor | 2 Gmafnéiurmmé;@ aéﬁg, Bl
() <wgssm 3. @quﬂ@u‘ugﬁj@ o 55 Hootd

4. euar ﬁ]a)@

@ acvd

@ & © @

@1 2 3 4

® 4 2 1 3
 ©2 1 4 3

™3 4 1 .2 "

E) GﬁTQDL Qgﬂmsﬁl@@m

~ CCS4T/2022 i 48




(©)

? )

(B)
(9)
T

B

134. Assertion (A) : RBI controls the supply of money in the EConomy.

Reason (R) : If wants to stabilize exbhange rate and' control
inflation. R

(A) (A)is false, (R) is true “

@HMWMM®MM]VQQ4Q V7“

(A) 1s true, but (R) is not the correct explanatmn of (A)

W)th (A) and (R) are true, (R) is the correct explanation of (A)

. (E) " Answer not khown
@mom (A) 1 @‘Ib@u_l fares cumd BHrLiqer QUITGETTST] LT GUPBISEE
83L.®LJLJ®§>§]<‘§L[D§] |

smgad (R) : é{(f_ﬁﬁ\u_l Q&mnwmﬂ unﬂmrrg,g,mm aﬁlaﬂggmg Heooruubssend,

umeﬁa&&ggﬂmm& au.@uu@g,g,mm @ﬂ@mqﬁmg

(A) saug; R) &ft
(A) &rﬂ; <pearred (R) seum

(A) sfl; %mns\) (R) ereu (A)@S]ﬂ)asrrcvr &rﬂu_lrrszfr eflaTéaLee
@-‘

(A) womb R) @mﬂ@m &rﬂ (R) Grezfrug,j (A)@ﬂ,roasrrm srﬂquran aﬂm&sa;mrr@m
cflenL Qgﬂuaﬁ]wmw
49 o . COS4TI2022
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135. How many triangles are there in the follbvﬁng figure :

@ 12 B) 13
€) 14 | w)w :

- (E) Answer not known
Spacm_ UL Sl erggemar W&Caranmiiser o ararer?

@112 ®) 13
(€) 14 . S.VV(D) 15
- (BE) e Azflueiidvoama o
136.. Whlch number is in oppos1te plane of 3?

€0
€0

@) 1 - mgﬁ

€ 6 | D) 5
(E) "Answer not known o
3-6@ erdlymen g,mgg]w 2. 6ITeT 6T 6T ?

A) l -
(E) aflenL Qg;rﬂu_:eﬁ]evmeu e SRR I |

Csali022 . s g



137. A worker was engaged for a certain number of days. B‘ut he remained
‘absent for some days and was paid Rs. 1,387. Had he worked all the
days, he would have earned Rs. 1,752. How many days did he work for?

M 19 : - (B 21

C) 24 (D) 29

(E) Answer not known o

@oai @m GOl Cumassts _umﬂmwﬁ§§UuL;nﬁ. D ETTE éa{eﬂ.lr'r;é]eo
prisedt Ceuowéd eaurmod, Cuow Qg prisepsstar saduors . 1,387
Auppr. e Smarss priselgib Came Qeuidmbsnd safuibms 5. 1,752
QupBlpuunt erafled et Cauama Qs B smers srears.

A) 19 L - ®) 21

©2« D2
(B) oo Qsfweiama |

. ‘_If vp‘roduct of given three humbers is 1875 and their HCF is 5, 'th_en their

LCMis |
(G

(B) 125
(C) 375
(D) 450

(E) Answer not known
Asr@sstulc  eperp  aansefler Qumsspueoar 1875 wpmbd b
15.Qum.eu-5 erafled eupdler 8.Qum.o
@w

® 125
©) 875

® 450 S
E) o Gsfludome

Y

o 51




139. How many tlrhes can you subtract 10 from 100‘7
\ﬁ( 1 (B 100
© 10 | O
(E) Answer not known |
 100-ag1 10-g 2 drarmed ads@mar e SEs @iguib ?
@1 (® 100
© 10 e

(E) o&flen Ggmméﬂd)mm '

140. Mukesh can do -;]2— of an work in one day. In how many days can he

cdmplete the same wdrk? - B .

@ 2ldags 'v'\ﬂ/é—l-das
5 days . N A 1y
Lo B 1

(C) 4= days | (D) 5= days
2 2

(E) Answer not known

2
pGseiy e rr5rr61ﬂa> = UGS Ceuamaanw G&u_@ (y)quum crafle) erggenan el

aw@wmmmu @@mmu_frras Q&u_@ (g)quurrrr?

(A) 2% prn.‘-essir | | o (B) 3 BT
(C) 4‘2“('5{”—856"} - | | (D) ‘5—2—‘r_r>rn_.aseh

(E) cflanL Qgrﬂwaﬁlwmgu

- _CCS4T/2022 | e o



'141. Which is in-correctly matched?

149,

(A) Article 14 —
Article 17 —

(C) Article 21(A) —

(D) Atticle26 -

(E) “Answer not known

Equality before law |
Ecjuality of oppbrtunity in matters of public
employment |

Riéht to elementary education

Freedom to manage réligions affairs

g,eug)rra Gun@pﬁummg TGl ?
(A)  sipdwe siewiiy Gfley 14 - sLL §Hle (e SMATGU(HLD FLOLD

(B) SIrflwed siemwiiy 9fley 17 - Qung) Caumeamiitiyselld sweaumiiiy
(C) @wfue é{mmuq Gfley 21(A) - Qsrsés sdel Qumbd 2 Maw |

(D) é{qé]u_lei);é{ém‘ouq LS]rﬂcq 26 ~ sow dlausmyhisamar fiiaudésn e few

- (B) oL Asfucidme

The Directive Principles of State Policy of Indian Constitution resembles

(A) Magna Carta, 1215
(B) Charter Act 1813

Instrument of Instructions, 1935
(D) Regulating Act, 1773

(E) Answer not known

@Qidu sirflwueedliLy sreasler @Jgﬂg;m_@\ QB pepmEaT

Camhod eflliiemeuwm@Lb.

_ (A)  wréerr engerd, 1215

B) uriwéE s, 1813

(©) vé{,rﬁ]mgxgg,eu Q&mg)a@aﬁl 1935

(D) @_@m@u@g@m FLLLD, 1773
(B el Asflueddena |

s

- I'Miirn v

8 CCs4mi2022




143. Match the following:
(a) The Consumer Protection Act |
(b) The Legal Metrology Act
(c) The Essential Commodities Act
‘(d) The prevention of Black
Marketing Act '

1980
1955
2009
1986

W o=

@ b © @
\4?6’f4‘ 3 2 1
1 2 3 4
© 3 4 1 2
™4 1 5 2

(E) Answer not‘ kho_wn

3 ;%ggésasaivrt__msuasmér‘ DTS Q_urr@g@é;..

1980

(a) msiGeun ungsmILE LD 1.
(b) st siereiluc s 2. ° 1955
| (c) agﬁu_jrrmau.:u Qurr@ﬁ.ascﬁ'g'[;t_m : 3. 2009
' 4. 1986

(d) serers spasL@sssD SELIY
FULLI : '
@ b (@ (@
@w 4 3 2 1
B 1 2 3 4
™4+ 1 3
(B) o9 Qpfuciaion

- CCS4Ti2022 -+ TS




44.

145.

4, '. Tam11

Christianity was first brought to India by an apostle of
Christ in the First Century A.D. |

~ (A) Saint Peter (B) Saint John
(C) Saint Matthew Mssaint Thomas
(E) Answer not known
- N (PBOTD  FIHDTEIYD dmsglon web @HHwredier @Gu&aﬁlm FL e

- eTaLIeUme) Glgmer(h ULl L g).

(A) yells S ' (B) Yafls sgmer

(©) yels Guosw (D) yefls smoed

(E) e Gsfueidema

Arrange the following languages in the chronologlcal order w1th regard
to their year of belng granted the class1cal language status

1. Sanskrl_t
2. Telugu
3. Malayalam

@ 2341 (B 3142

(E) Answer not known

Spsaar. Gurfsmear QebGwmf gs@g‘;]uQu'mg) <% @r(H sl e e;qu}uuml_uﬁlw
auflensliL(h5)5.

1.  soevdlmsnd
2. Qsaiis
3. Losv)éuu_lrrm‘Lb |
O ® 2341 L B 31,42
(© 4231  , (D) 41,23

‘ (E) @9@71— Qgﬂhéﬁ]@m@_ "

. % cosemaez
RN L ~ [Turnover




146

147.

Which 01ty is known as “Electronic Capital of India”?
(A) Hyderabad - _ Jl?engaluru
(C) Chennai - ~ (D) Delhi |
(E) Answer not known ' ' _,
@(@ﬁluvnaﬁldﬂ ‘Wemaflwic SPDBSTD T SAMPESLILEID BaTD 6rg)? ’»
(A) | DANSTTLTE (B) Qumsenms ﬁ |
(C) Qgenenan (D) QLeved . |
(E) eflen QgMwefcrena | | . :‘,_,
Correctly match the component and its use in a circuit : |
Component - Use of the component -‘ _
(a) Galvanometer 1. Used to fix the magnitude of the current}

| g through a circuit
(b) Voltmeter

2. Used to measure current
() Ammeter 8. Used to measure potential dlfference
(d) Resistor 4.
o B © (@
4 3 2 1
B 2 3 1 4
- (C) 4 2 3 1
M2 3 4 1
(E) Answer not known L | :
@0 BleanapBlayerer Werammsmer @iger LwerLT HLer #fwims G]urr@g,g,jés
olebran my ' » WBlemandlerr LiweTLIm() :
(@) sroeuGarm Srei 1. Beaddler  umyd  WlerGearm L gder é{GTTQDQJ
’ Blifewrud Qe Lwetu@Eps) o
(b) Geumerr B it 2. HerGenmlLgens yemeili
() oS ' 3.  Wenanwss CS@JQJurrL_mL_ SjaTedlL
(d) BerseLwunss 4. BenGanmiib wp b Sigen fansamws a;asm_,r_fﬂu_l
& - o &

O 4 2 3 -
™2 & 4

CCS4T/2022 R | 56

@ ® ©@ @
A 4 3 2 '
B) 2 3 ‘1

N

(E) aﬁlszm_. @grﬂmaﬂmmw




» ‘.(i) Dharmapuri
(i1) Erode
.(iii) Vellore
| (iv) Coimbatore

@ ), G, G, Gv)

' ,’ 148. Arrange the districts in descending order of havin‘g forest cover

(B) (), (v), @), (i) .
- © @),0.6) 6
| 70w, G, G

(E) Answer not known

o Ltismer,  siwes  Qsmar@era  sr@aofdn
- Brigaflosio aygs.

@ g;érmqm Lo |

(i) Gy

(iii) Geugyri

(iv) czmumugw

A) @), (i), (i), Gv)

B) (i), (v), (), (i) | |
C© @666
| D) @), @v), '(i:i)f,-(iji)f : s
(B seoL Gsflusidew

14

B SlaTEnes Qsmawr®

COQATINDD.




1219;_-Wh_at are the »0rnaments of a nation according to the sequence O..Aj
Valluvar? ' ’
(1) Wealth
2 Joy
(3) Defence
(4) Health
() Yield

0/(44), 1, 3), @), 3

® (1), @, O), @, 6
SO @.03),6,0,0

@) (), 4, 3),6), @

(E) - Answer not known

BTy HE Selswamaraiheann QUET(@peUT GThS mtﬂm&uﬂeb g)‘lj;g,jé'r‘rdrrrfr?

(1) Gsdar
(2) @s&rum
3) quw
(4) QaflGerano
(5) eeeray

@ @, 10,6,
® 0,@,6,@6
O @0,6.0,0
O O.6.06.6,0
(B der Azl

CCS4T/2022 T 58



>

150 ‘Arrange the following in chronologlcal order with respect to their

Chief Mlmstershlp n Madras Premdency
P.T. RaJan )

A. SubburéyUlu Reddiar

'P. Munusamy Naidu

C. Rajaji

S

. P. S:ubbara.yan;

&) 2,4,3,51
M’z5314 | F
© 5,3,1,24 |

i (D) 3’ 1, 5,‘2, 4
(E) AnsWer not known

sreaflasliig Log,grrm) mna;nemg,ﬁm (y)gwmm&&n&mm mrﬂm&uu@gg& .

1A - Ungm

2. . | . &uurjrru@l Qg wim
3. 9. waysm pryd
4. 8. yrgrsdl o
5. 9. &oupmuen

A) 2,4,3,5,1
® 2553 1, 4.
- (© 53 1,24

O 31524

() oL Osfudoss

s o Y




151. Choose the fight match

1. Taxes levied and collected by union — Art 269
| but Asmgned to the state - | | |
2. Duties levied by the union but collected - Art 268
~ and Appropriated by the state
‘8. Tax levied and collected by the union o Art 267

- but which may be d1str1buted between
umon territory and states

- (A) 1 only | |
" ® 2and3only
Wﬂ and 2 only }
“.(D) 1 and 3.only |
(E) | Answer not known

e R B S st

sflwiman @mamdm@@g,’r’rj@g@ -
1 ,Log,g‘,]uJ SITETED aﬁlﬁla;a;uuf_@\ QJ@G&GSGSLIUL_@ ,

y ‘mnﬁwma;@asgaj R81655 am}u_; QUGTRIGET - ‘Qqaggg;,269 .
2 L7 SITHRENT, 2.0 P aﬁléles&uut_@ <Qened wrhle &~ aursg 268
UGLILIg WwhHmIb wetu R\sgia.g) |
3. wsu wrsmTe @S@ese;uuL_(B @J@@Sl&;&LJUL@ - 3158 267

wblokiser whmi wpenfliseor &lq@genﬂ&@&@
udlipsalsssemiyw euflsd

(A) 1o go

B 2wpgi 3 LDL@LD

©) 71 opps 2 ERcrs

@) 1 uppis 3 m,_@m
®) e Qg,rﬂu@ﬁlsvma) .

-CCS4T/2022 C “ 60



| 152. Which of the following statéments are true?

| (1) Zinc blendé-is.concentrated by magnetic separation pfocess

(1) Haematité is concentrated by gravity sep_aration process

(111) Alumini.um" is produced by the électrolytic reduction of fused
alumina B o |

(iv) Matte is a mixture of cupric sulphide and ferrous sulphide
(A) (1) and (1) -
(B ()and (v)
WO @and ) o e D ot Ove
Ml) and (1V) - - I Of"u*.
() Answer hot known | C |
ﬁgpasasmn_wmgjm &‘lﬂU.JﬂGOT emmga;m TG ? |
(1) A Liemebri esnpg,u QoY Q,ommufﬂw éu_rruﬂesa;uu@aﬂg)gj

(11) CS@_n)manL_t_ L[aﬁuﬁrruq ap@pude a{l_nuﬁle;a;uu@ei]gpgj

(111) &@ﬁu_l qguggluﬂsommeu uS]szrrasTrrg) LGy @mmuﬁ]w @@a;aﬂ &@IL&GGﬂUJLD
Qupriu®Epg
(iv) ot aarug  GLIfs &d)&i‘)l_.l@] | .LD@QJLD Quiyev sheU® < Fwsibben

&EVEN U LIT(HLD

@ () wopo (i)

B) () wppi> (iv)

(©) ) oo (i)
D) ) s ()

E) QﬂmL_Qgrﬁwaﬁ]@mg, |




153. Findthe odd one out. .
(A) Illamchetchenni | (B)‘vKochc'henganan
M Perum Cheral Irumporai (D) Perunarkilli o ‘

(E) “Answer not known

- CurpBETEMSE a;as’ur@«ﬁ]q.
(A) @m@@&LQ%&mﬂ ' - (B) GsrnsQemisemmer
©). Qu(mErCere @@mQunmm | ' ”
() Qﬂam_ QsMucidme

1564, .Whlch of the followmg statements are

. (i) Pathinen keel kanakku texts, 1nclude elghteen texts Whlch most
- deal W1th ethics and morel codes.

'(11) The most 1mportant of these Thlrukkural and N aladlyar

(111) Sllappathlkaram and Manimekalal are the two texts deals W1t
Cultural and Rehglous h1story | :

| ) (@) only True ~(B) (i) only True
(1), (1) only True , - (D) @), (ii1) only True
(E) Answer not known |
SpsarL aursdlubisalld sms wmalw srasden eflwmar Gapml =K !

(1) udQer @ mrdsmer o drerlsdlu uglQanend pssanté @ mroseT @u@u)ur@ju) ’\
Rpés Appdlapepsameris updl Fmpdlpg.

W é{wmgum @@5@m@m BT LIm(HD (boﬁemmmunmﬁﬂ@m
(i) Aeuvudsya,  waflGwsmub UG_W_urr@ HmID  FDWUS®S Uﬂ?‘f’]

- eapidlanpan. R
@ @Qocgper (B ) mn@m PR
(O @), () v eonen . (D) (1), (111) Lm_®u) ol

(E) aS]em_ Qgrﬂ’m@ﬂ_dﬁmm _

CCsaTizo2z . ez



155. Which of the following was founded by Rettaimalai Srinivasan? -
(A) Sakya Buddhist Society |
(B) Advaidananda Sabha
(C) Al India Depressed Classes Association
(D) Adi Dravida Mahajana Sabha '
(E) Answer not known
GereubeuamauppIeT arbg FeL @l e e Saflumeaned gleuksILLLE?
(A) ensdw Quatss SRS
(B) <smeagnanss sum |
C) odo @b gO&sLLLGLIT shisD
ﬂﬁ AyreflL wamgar FapL
(E) oMer QsMweidene

156. Match the'.followirig:' S =
~_ Indus Sites ‘Excavated by

(@) Chanhu-Daro 1. SurajBhan =
~(b) Lothal 2. N.G. Majumdar
(c) Banavali 3. S.R.Rao |
(d) Mitathal 4. Bisht
@ b (@ @
@ 2 1 4 3
N2 3 4 1
© 1 3 2 4
@ 1 4 3 2
(E) Answer not known
QuUITBSSIS
Apg 5Lo®6uaﬂ g;asgmaam - spaurgmiESwmer
(a) serar®-srGym 1. @8 umer
(b) Cargse 2. eang. weebsT
() uermeuaf 3. erev.<yff. el
(d) B L5 4.[ (Qaigt
@ 0 © @
(A) 2 1 4 3
@) 2 3 -4 1
©C) 1 3 2 4
M1 4 3 2
(E) eflen G]g,fﬂu_:aﬁlwmw | |
) 63 | o - CCS4T/2022
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157 Arrange the following Newspaper s and Journals of Thanthai Perlyar 1o
chronological order. |
1. Paguththarivu - | ~
2. Viduthalai | | o
3. Kudiarasu S
4. Puratchi - W/ -
A 42,31 | 3,4,1,2
©) 3,2,4,1 , D) 2,3,1,4

(E) Answer not known .
z%%pa;a;mn_mfmg]m SHNS Qurﬂmmﬂm' Qeiglgsrarameryb, @spsaeubf

e papliy. allmsiu®ss)s.

L uessio

2. dpsoe

3. GGWwrs (FREEVED

4. ypoé | - T
V(A) 4231 .. (B) 3,412
(©C) 3,2,4,1 . (D)2,3,_1,4.

(E)  efleni Qg)rﬂu_laﬁla)as)m ,

- 158. Assertlon (A) :  The Indian herltage advocates hospltahty, charlty,g‘;’_
- | friendship, love, respect for parents and elders and
o “tolerance.
Reas (R) Al these help the people to live in unlty
Both (A) and (R) are true (R) is the correct explanation of (A)
(B) Both (A) and (R) are true (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false .
(D) (A) is false but (R) is true
(E) Answer not known
Y @pdu  urpbufwD  eTeTLg allpHECsmbUed,  mens, BLY,  Sfe,
' QupCprengutd  H@ID @urﬂmeurra;meﬁum mﬁgg@ WwHMID ga%]uug;
seTene . U6l miSFH S TG L. 1
srgend :  Gupemdlu LT geT G@ngmma;smm Dafufix D& &ET @mguas)mlqnem QU
Cey . epadldipar. SN |
(A ahp)gjw a;mycm@m &M, srped Bhﬂ)QJESBSITGUT gflwmrer @Slmasasm E
(B)  epmid snyam(pid &, smyaumd ahg)gjasasrrarr avrﬂu_mm aﬂmasasw e;{eocu B
(C)  mpm &, sTrewDd Beugy B
D) - spy seuy, smyewd sl
(B) * ofan Qsfwelcrener

- ccsami2o2z . 64




(4)

(©)

" (@) Gandhian Plan
Gi) Bombay Plan
(1i1) Jawaharlal Nehru Plan

(iv) Vishveshwarya Plan

@, (1), (itd), (iv)

’ . @( (iv), (iid), (i), ()

(@), @), (), Gii)

D) (i), @), Gv), (i)

(E)

55@&'5566’&1__ QL'_.L.JSIGSQ;)GIT sT@@pULy auflesiupsss.

Answer not known -

'(i‘) g;ngr,ggmg gu_uﬁ

(11) wumbGu QLL_LD

(111) seuaniemred Cpp S b

(1v) efevCauseuriwm @LLLB\ |

@)

®)

D)

(E) oflor. Qgflucioeme

@), (i), (i), (v)
(i), (i), i), () -
@), (i), Gv), Gii)

), @), v, i) -

B3RS

59. Arrange th’e following plans in Chrohblogical order.
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160. The birth rate is estimated in terms of ,
(1) | Number of births per one hundred population in a giveniyear
(i) Number of births per one lakh populatlon In a given year
(111) Number of births per one thousand population in ten years

(iv) Number of births per one thousand population in a given year

@A) ) only . (B) (ii) only -
(C) (i) only (J(iv)pnly
(E)  Answer not known | -

- Qoo aldlsLd @gaﬂ auq_uuas)l_ufﬂsv AU uEAg). -
() @G GOILACL g pry wasdr Asrasuia ﬁ],mgsg,eurraserﬂm TaTantléens

(i) e SO L Qagd @ @wt_et LD&SET Qgrrana;uﬂa) @mggmn&aﬂm
- aameilsens ,

(i) ugg cg;gas‘zsr@asaﬂsi) Quigd wésar Qgrrewa;lﬁ]d) @mj;g,mr’ra;aﬂe&r erameniléeans
| | (iv) @ eAnGL c%mqw <Umd wéser Qgransufe Lﬂmpgmnaaﬂm aTamaniléans
@ Qoo C® () oo N

©). (iii) v @o ; D) (v) e
(E) e QzNwefdema

161. If the difference between C.I. and S.I. on sdme prineipal at-15% p-a=for
3 years is ¥ 1,134. Then the principal is

T 16,000 (B) % 15,000
(C) T14,000 - (D) % 20,000
(E) Answer not known ‘ -

- 15% e’%\bam(b\ euL_quuEﬂa) 3 ég_:oam@a;@as@a; eﬂas)l_a;@m sl (B QJL.[q.GS@LD g_r,soﬂ
qua@m @mt..@u.mmerr @9g,§u_|rr5m T, 134 craile) Siger gD
A) 16,000 i e (B) T 15 OOO |
() =i4000 (D) 720,000
(E) e Qg,tﬂu.:@ﬁleumm | -

-
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2. Two dice are rolled together find the probab111ty of gettlng a doublet or

sum of faces as 4 o _ ,
@) 119 '%9

(C) 4/9 » - | D) 2/9

(E) Answer not known

@ran® useLsar @Gy Crrsdd &@I_L.uu@wGurr@gj @remgaib @Gy wpsbd
SD@g @mEsd 4 deoLss Hapsse) srans.

‘ (A) 1/9 B : (B 3/9

(C) 419 (D) 2/9

- (E) e Qg fwelldane

. Kala and Vani are friends. Kala says, “Today is my birthday” and she
asks Vani, “When will you celebrate your birthday?” Vani replies, “Today
is Monday and I celebrated my birthday 75 days ago”. F1nd the day when
Vani celebrated her b1rthday‘7

(A) Tuesday

\ Wednesday,

(€) Thursday

(D) Friday

(E) Answer not known -

SOM WHMID euTentl @(HeU(HD BEATLITSET. @GOTQ] erangl Ymbs BIET Gram e
slarmer. curenfludl b “o arg GApps prever eriGumng § Qameamr@eumi?” erané
Gl Lmer. <ign@ eurenfl “@emi Slhisl dipenw, Brer e Gpbs Hreavar
75 pris@nsE e QaremmgGarer e ug_f,]suerﬂggrrm aurenfludlen “pbsHTeT
THSS e%]gpanu)u‘i]a) mp@@&@m CTENd SIS, 7

(A) Qmmurru_l &par -
® peagen
'\ (C) eﬁ'l'u_:rrgpsﬁélgpmm s
(D) Qadrefl Aoy
(E) oo Gsfuciomm
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164. 4P+Sr9B#A3?7c>Z%6d*Q@1 | ‘
If the first half of the series is written in reverse order then whi

element will be fourteenth from the right end?
A > ‘ " (B) A

©) Z o | 7 +

(E) Anéwer not known ’

4P+Sr9B#A3?7c>7Z%6d*Q@1 _ |
Qsr@ssuul L Qsmiflar wsd urdow GaGamse aflamsuieo awdamd aumn]
Qarfler euagusssH(mHg 14-6usTs e 2 mrilamears srars. ‘

@ > | B A
©) Z o D)+
(E)  ofepr_ Qs flwaidea

165. 10 farmers will plough the land in 21 déys. In how many day’éﬁ ',
14 farmers will plough the same land?
(A 14 days |
15 days
(C) 16 days
(D) 17 days
(E) Answer not known

10 @S]@J&rruﬂasm 21 gm_aserﬂco @ Hosms o (g wusdemart ereafle &Gg
| Lﬂeog,mg, 14 aﬂmgnuﬂasm aTsseman Brlsefld) o (g (plgiiuf?

Q) 14 prser
(B 15prs
(C) 16 prser
(D) 17 priser
(E)- eSlent_ @grﬂ'u_l,@%bm@)

. cesamgoze - N



66. There is 60% increase in an ra‘mount iﬁ 6 years at simple interest.
Then the compound interest of 212,000 after 3 years at the same rate is
&) 22,160 : (B) 23,120 |

23,972 : (D) 26,240
(E) Answer not known | | |
20 EALALL S50 sallaily cissdo 6 ar@sdo 60% ofsNsAns. =Cs
aully eigsdledr ¥ 12,000-45 3 yanpsailer HaLs@n s @ el iy

@) rz160 (B) 23,120
©€) 3972 (D) 26,240

(B) oL Gsflucioms |

The population of a village increases at the rate of 7% every year. If the
present population is 90,000. The population after two yearsis
(A) 96,300 '

(B) 1,03,000

(©) 1,00,000 94450 24250, 855
(E) Answer not known

om  Armosdar  wést Qsres garirarmseg 1%  &ish  odefsdng).
QuGlurpgl wsser Agmeans 90,000 csmsﬂev 2 %m@as@&@u Y@ agaﬂgnmggﬁlm

&&eT ClgTens
(A) 96,300
(B) 1,03,000
(O 1,00,000
@) 108041 .
() oo Qpuelicoenss
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168. Which among the following is/are correct about the Judiciary in Ind1a
(1) India has borrowed the concept of Judicial Review from the USA

(ii) - Both the federal and State laws can be subJected to Judlc1a1 Revi
by the Supreme Court. .:

?he Constitution Article 13B saves_ the Acts from Judicial Review
(

i) and (ii) only
+(B) (1) and (iii) only
(C) (1) and (iii) only
(D) (@), (i) and (iii)
(E) Answer not known
@bAwreller SHuyemmie) ubHdlw eﬁggasns&mum;bgjdf argl/ereneu Fflwumeteneu ?
@ @E@mn BAuyeryTiey ererm smSGIm@ar SiGwhssrellaBhg Auips!
(1) geadlu  wppd  LTfe  ElLksds  @rer@b  oés Béwernss
ﬁuqmqnwma@l_u@m B . : q
(iii) <irflueeniy sl 9fey 13B Edssiop wn <piiey Qewieueng g,@aséi]mg

e

A) - 6 wppid ) oc G-
(B) (1) HmID (111) L D
(C) (11) wmguw (111) LDL_@LD
(D) @), (ii) wpmd (1)
(E) e QsMwelebena

169. Which one of the following Articles empower the Supreme Court and
High Courts to issue writs? |
(A) Article 23 and Article 226 (B) Article 32 and Article 228
(C) Article 226 and Article 36 Mrticle 32 and Article 226
(E) Answer not known - - \
Qamaumd st Qfeyselld apss  sLnGfay amﬁﬁﬁwdﬂmgg}m !
Guqrrmmresmmu @mu@&;a; a{ﬁasmym é{aﬂaseﬂmjpgj?
A &u_ul_‘ﬂrﬂm 23 wpmid 226  (B) 5u_uL9]rﬂa,| 32 Log)QJLD 228
(©O) arl_l_u@lﬂeu 226 WS 36 (D) sl__L_LJLEﬂrﬂm 32 Lomgmo 226
(B) e Qsfueidama
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. Extra topy of chr’ombsonﬁéﬂl rééults in
(A) Si‘éf{ie cell anae'mia ! % Down syndrome
(C) Kline Felter syndrorﬁe (D) Thalassemia
(E) Answer not known .
&CrmGunGemd 21-Qd @ pod & pswTs @HUd dgamd ghubas
A) ofleundr @rss Cenens (B) Layer e _Crymid
(C) soaer:QuaLT a‘@TL'_GUTTLb D 'gsu&&fum :

(E) e Qsflweldene

a Which:z()f ‘the following is--correctlyr._paired?

(1) Pattadakkal =~ = Chalukyas of Vatapi
(2) Elephanta Caves _ Ashoka |
(3) Ellora Caiies_ '~ Rashtrakutas
4) ‘Mamal'lapuram', - Narasimha Varma I |
o W 1,3, 4 are correct (B 2,3,4are correct
" (C) 4,3, 2arecorrect (D) 4,1, 2 are correct

(E) Answer not known

silwrer @evamarwg Csiay ews.

(1) ulLLése = aursmd gnEpsSw

(2) eraSGLigim_m Gwssear —  AGensH

(3) aoCamym gmsseT  —  (TEyIGThEmLTEET
(4) | @nm@@qu@j T — s By& DTG
’ (A) : ‘.}-.1’,"-v3,‘4s=rﬂ-u.1r‘r6ﬁrgj E i (B) | 2,‘3,. 4\érﬂu_1rr66rg,1

(©) 43,2 sfurer

D) 4,1, 2_'.&rﬂu'.11rrm§f
(E) el Ggrﬂu_laﬁle‘omeu ' '»

[y




172. Pick out the correct statements :
Statement 1 : The delta of the Ganga Brahmaputra has the largestf_'x
tidal forest. '

Statement 2 : Tidal forest are also known as mangrove forest.

| M Both statements are true -

(B). Both statements are false
(C) . Statement 1 is true 2 is false | - l
(D) Statement 11is false 2 is true

(E) Answéi' not known

sflwrer aurédlusemss Cﬁgﬁ‘rjﬂg(b\ééasmm :
éurréseﬂﬁub_l: -aslﬁjébias—Lﬁqubmqgé]mr Qreorr ugdseaild  WsLQUAw efgjuqé
ﬁ]mésasr_r@a;dt o eTeren. | |
uredlub 2 :  A@owTsHs STH&eT “omt@Crmed” sTH&ET -~ eTe)
c@{@@é&uu@ﬁm{mm. |
, (A) @Qrar® mﬁéaﬂurﬂw;@m gl

(B) @U@?ﬂ'@ QJW@B&]UJ[EJ&S@[D sSeum) '

(C) Gurr'é;aﬂuJLb 1 afl; 2 g
(D) ama;éi]u.:m 1 g,eugy 2 &lﬂ

(E) o9en Qgrﬂwaﬁﬂwmw
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17 3. Match the Geographical Indiation Tag (GI tag) product with its place :

Product
(a) Turmeric
(b) Mat
(c) Painting
(d) Sungudi
@ ® ©
A 1 2 3

| m 3 4
€1 3 2
oz 1 4

(E) Answer not known

(d)

L

Place
Maduréi
Erode
Pattamadai

Thanj avur

yelegmt @Hui® (GI tag) Qummseer é{gdﬂ QLsgier QuImBEEIs.

Qurr@eh,v'
| (a) ID@hEET
() umis
(©) meﬁmmugéc&. (eSwib
(@) ey
@ ® ©
A) 1 2 3
- (B) 2 3 4
©1 3 2

)

@

4 «

1
4

(B oL Gsfludons ©

1
2
3.
4

73

@b
LDGIENI}
FGrm(H

u§,g>ma>|_
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174. National Panchayat Raj Day is observed on

(A) 24t December

(B) 24th August’

W(24th April

(D) 24tk September

(E) Answer not known

Colw eargm & prer — <Y SLD.

(A) ge&bur 24
(B) <ysevr 24
©) e 24 °
(E) o9enr Qsflweldrera N ‘ | - . H

175. True rlghteous/wrtuous hfe cons1sts in the avmdance of four th1ngs
what are they‘) |

WJealousy, Ambltlousness Anger Unwanted Abus1ve Words
(B) Aram, Porul Inbam, Veedu

(C) Enjoy, Sound, Laugh, Peace

(D) Lust, Anger, Doubt and Action

(E) Answer not known

“Budst Queanng eipb” — eTenau?
(A) SHQE&TY, Sleur, eugefl, Garams@sme

(B) SiPLd, QuN@m G, sﬁ’(b\
(C). wépsa, 5§§Lﬂ®§60 é]rﬂgg,a) amm‘é,]

| (D) &LOLD, Q@J@jaﬂ mu.:a;asw aﬂmm
(E) afanL_ Qg,lﬂmaﬂwmw | |

- 0CSami2022 T MO | 8



is not a part of the Tamilnadu’s First Multi-Modal Logistics

Park.
(A) Chennai Port Authority

(B) Tamilnadu Industrial Development Corporation
-(C) National Highwayé Logistics Management Limited
Chenna1 Metropohtan Developmental Authorlty

(E) Answer not known

gjuﬂgp(f_r,m_u}m WPSOTEUG LIApE LI 50&;@1_1 (Surra;@a_lqgguu grma;rraﬂa)
<@wldh@s GsrLiy Gome.

(A) Qeenranars g,jmg)@a;as a;kpasm
(B) sOpBTE @g;rrgﬁa) cueriiéd (tﬂgueumm
(®) @;r)@qnmev m@)(ﬁeum) emgdleig.dan Gmegngml_ aS]L6]®|_1_ :

(D) Qserenar Qu@p&;u aueTiEHs @@mm

(E) aﬁlam_ Gg,rﬂu_laﬁlcomw

I———————

177. The Winner of “J nanpith award” for fhe year 2021 was
mamodar Mauzo | (B) Krishna Sobti
(C) Amitav Ghosh (D) Nilmani Phookan
(E) Answer not known
| ZOZI%LD %mq.m5nm “@rremﬁl_ aﬂ@mgp” Q@Jmmmn wir?
(A) grr@mrrg,n QLDGTGB‘H’ (B a%]@aspsmrr G&nu‘@

(C) oflges Camaiy (D) ﬁeo@euﬂ}gasasm o

(E) @Eﬂezs)L__Qg;rﬂu_l@ﬂevemu

rd
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178. Whi:h of the following statements are true? 1
(1) CDRI - Central Drug Research Institute has developed an}
indigenous RT — PCR diagnostic kit “Om” for testing the Omicrop
Variant of Corona Virus. |
(1) Om is the first kit made by any government institution for specific
~ testing of Omicron. |
(1)) Om 1is the third to be made indigenously for specific testing of |
Omicron (Corona Virus). :

Ay (i) and (ii) only
(B) (i) and (i) only

© @amdGony o8 ST
W}(i;)), () and Giy .

(E) Answer not known -

Epsaramid aursdwnisald eraelQuidanb &ifl?

) wsdu wEHBE <prmiEs Blmieuerid CDRIQBSNGUFT&ST!T eeugellen guisymer

- wrgurt e Gsndés 2 a1 CaoCGuw “Om” ergyib 2T - 1982yt sam_dluib
spell o (meursdluararg). _. gt . '

() pBsrraier GALAL  Gsrsmanss ThHS G 2ATE  Hneassmd
2BATSSELILL L Wpge smedl “Om”

(111) 2 ampm_ 4 GG swriléstiul L aperprengy  GQsrCrreant mauranr Cergenar

s “Om’”

(A () oo (i) @

B) (i) wpgid (iii) wr @i

©) (1) womed (i) e Guo

D) 6), i) oo (1) omasgid
(E) | aflenL Ggfﬂ'méﬁ]‘d)mm” e
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Shale gas
(C) Water gas
(E) Answer not known

GTGHTERT ?
(A) Gayer aumy

(C) B eumy
(B) e Gsfludidame

179. The gas present in the pores of soft finely stratified sedimentary rock is

(B) Gobar gas
(D) Oxygen gas

Cerenwimear eueanrL e uman hsGsefler gmarseild o érer eumuyellen GQuwi

(B) Gamuir eumy
(D) < s6fgen aumy

1 180. Match the class of compound with it functional group

‘Compound
(a) Alcohol
(b) Aldehyde
(¢) Ketone

(d) Carboxyiic acid .

@ ® © @ :°

A 2 1 3
B) 2 3 1

(E) Answer not known

4
4
1

B2

Functional group

-COOH

-OH
~CHO

gl (U Qumpener @{geﬁr cllenarui( Cgm@Su6r @ emr

Fal_(HLGlummer
(a) <posanTd
(b) dgman(
(c) &L GLmer

(d) sriunsefals yflon

p—t

@ ® © @

‘A2 1 3 4
‘B 2 8 1 4
C) 3 2 4. 17
M 2 3 4 1
(E)  eler Qsflweldrenas

kid

aﬂ@mu@ Qsrgd

-~ —-COOH

-OH
~CHO
0
I
“C-

 COS4TI2022
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| 181. Match the adulterants of the food :

(a) Hydrogen peroxide 1.
(b) 'Food colours
(c) Calciuz_n Carbide
(d) Carnauba Wax |

@ ® © @
@1 38 4 g
Wwe 3 4
© 3 4 1 2
™4 1 2 35

(E) Answer not knbwn

2.
3.
4.

Shiny appearance
Milk
Fresh look

Ripen Bananas

&gpésasas’m_"assuuupgmg, &‘éowr(ﬁmrr@ Qe Qsiis,

(a) mg_‘*r)r_iggsi}r@mjrrésmém(a 1.

O eomafppgsar 2
© a;rryd)é]‘t;uﬁbéa;rrr'ré'sm‘u(@ - 3.
(d) smiGarrim Qoge 4.

@ 0 © @

W13 4 g
® 2 3 4 1
© 3 4 1 2

D41 2 3 |

(E) eflenL @g,'rﬂu_mﬂei)éwé{; |

- CCS4T/2022

LIGTLIGTLILimaT ng,rfmmm
LIme -
usemws CamhpLd
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- 183,

182. Identify the wrong statement from the following.

(A) _ Shivaji's Guardian was Dadaji Kondadev

o

(€)

(D)

(E)

The coronation of Shivaji was celebrated with great splendour at

Rajgosh’
Shivaji’s soldiers plundered Surat in 1665

‘In 1674, Shivaji crowned himself by -assuming the title of
“Chatrapati” |

Answer not known ‘ ' - - .

ﬁgpasasmn_wmgum FOUDTEN SnHEDS seaTLMs.

A)
(B)

©
D)

(E)

Choose the correct statements : o

1.

4.

(A)
(©)
()

Aaurgulen urgsreei sTETEl Qanar_Ggeu

feuns)) prCamay Cam e uded wpiyGLigd arermmi
Hoursdufer Ll clii&eT Grsmg 16656 @mmmﬁqmﬁﬁ;
1674-@ & s&ud Taud Guwimed @q@qmnn
oﬁlsm_ Qg,rﬂu_loﬂa)ma)

Bharathi edited a Tamll weekly ‘Ind1a Which became the voice of

“the moderates

Bharathi partlclpated the Surat session of congress in 1907
Chakravartlnl, .Swadesam1tran | Newspapers was edited by

- Bharathi -

G. Subramamya Iyer Pubhshed newspaper The H1ndu

1 and 2 only correct (B) |, 2 and 3 only correct
2 and 3 only correct 2, 3 and 4 only correct ,

Answer not known :

sAlLTaT gahDiEEamaTs esmn_gﬂa;

1.
2.

8 @by updiisesau

Lmyélufle ‘Qrdur oJrrrI @g;g; uﬂgojng Gg@umn@&aﬂm @Ua)rrasg ﬁla;g)g;g,g,j
1907-@é @i sraare © T lgéh LMy sebgIQsTeRmi.
s&rauisde, &Ggat&g Sflessafe Ly umﬂu_lrr@;ﬂmrrrr

&l (,IILDGO'GﬂUJ ggu.m

guLo 3 LDL.@LD s

1 mmm-z 'LhL@Lb M L
D 4 LDL.@_L_D sl

2 oHpID 3 LD &
,oﬁ]em_ Qg,zﬂu_loﬁlsvma) _




184. Read the following passage and answer the item that follow. Your
answer to this item should be based on the passage only. -
Passage |
The creation of the Swadeshi Steam Navigation Company marked a
spectacular development in the history of the freedom movement. Eager
to revive the naval tradition of the Tamils to provide practical training
in ship building to the people and determined to challenge the British
" Monopoly of maritime traffic, V.0. Chidambaram announced his decision
in 1906 at Shiyali to create a N avigation Company. '
Which one of the following is best implied in the passage?
(A) The steam Navigation Company earned a good income in those
, days which marked an impressive development. -
(B) The creation of Swadeshi Steam Navigation Company stopped the
British Monopoly of Maritime Trade. .
’ (C) V.O. Chidambaram was dependent_on taking any decision with
_ - _gregard to Navigation Company affairs. - o -
o M‘he restoration of Tamils Knowledge in the Naval tradition was
the objective of the creation of Navigation Company. |
(E) Answer not known L |
Sereumd LugHanwls Ligsg) ereumid eflemmeilng udaefssaib. Qs LuGHssrar
2 g6 UGl LsHufen =g it uled LLEGWL @mss Ceuampd. ,
o : , T Y. : :
5688 evield @péﬂGaéagaeﬁrﬁQ]mmgﬁsbr fﬁmn&sam &SHST QusssSen eureTHBleh
QR ADYSOTET cUeTTES s &Msss. sllpisaien HliLm s G urrbuflugeas
B QL (éED QTUSHD  DESERESS HLILGD sLHeuSld  BenL (e uulihé
Seflssa)b.  se Curs@oursdler 1ML 1q ey geCurssdneE seumd el houdled
2 pflurse|d av.e. Agbugh 1906 afwreude @ CrellCaayer ‘r_ﬁgm'mgmg,
2 (HUTEGRUSDETET ST (Ppis @G SiMleflssimi. ’
Yeraupeuareuidler erg LsHuID HpriLimess GINEINTEIE] YT
(A)  aved CrelCsayen Boaiard <ips priseflo poe QUBLOTEATSEDS L Iy (g,
D8 R TIEEEsIG W eueTTESaws GOsss. ‘ ‘
(B) 5CGs8 avieid CrellCsayer sb@ALIEeT 2 BUTEsD s aumflesdad G ig e
 gsGunesms Ansdug. - | S | o
' (P) aLe. AgibLg CrafiCsayer Hipjauar efeusmyriser QAsr_iiLns abs Pyoauhd |
C o ahuugled whpeirsmars FMiBE HHSTI. T e e
D) suue s Gd umpbLfugSe silpiseflen wiflenau 5 QL GriLg CrefiGaaver |
. ﬁ]@mmgmgs 2 (Heumédlgen Gpnéamn@m. ' ‘ i i
(E) e Osfluelenar -

e

oGRS

)
%
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r{185. Which of the following statement ié/are correct about the NITI Ayog?

I. All Chief Ministers of States except Union Terrltorles w1th
leglslature are part of Governing Council

II. The Prime M1n1ster of India is the Chalrperson of the NITI Ayog.

L 'Fmance Mlnlster of India acts as VlcevChalrman |

(A) OnlyTandIII - |
A, 5

(©) OnlyI

(D) OnlyTandII

(E) VAn’-é-v&'zer' not known

&LVDQJ@LD aglﬁ)gja;aﬂsb ‘r_F,]gc,] <Curs’ um@u Gf‘@g,és amom sflwrerg?

L c@{mm‘g@j Y @gwmn&@m s Lemd Qarar wealwer lﬁ]q@g,gma;m
g,aﬁ]g 24 (@5LD @@aﬁlw éHBJBSLD cudldslanpant. |

@sdwc Grswi ‘D SCursddr samaeuir et
III. @pdw ﬁ@umu}é&r‘r glmen semealyres Qawou@nmr.
(A) II wpgw T @b
(B 1T LLEL

O Tuppo Twcgo
(B G)EﬂmL as @@mm

s © CCS4TI2022
P - [Turnover.




186. Assertion A): Micro irrigation technology helps to have a higher yield

Reason (R):  Micro irrigation required moderate water supply at|

4)

(B) |
W(l'%oth (A) and (R) are true but (R) 1s the correct explanatlon of (A)

D) Both A) and (R) are true but (R) is not the correct explanatlon

| (E)

sryamd (R) :  mewenfir un&m'QLQ§§]® Siareunar B Fyren srew @@LQ@Gﬂlﬁ]d} |

4)

(B)

©
ol
: .'(E),

- cessTi022 ¢ 82

when compared to the traditional irrigation method. ﬂ

regular intervals, reduction of labour expenses, increase |
the usage of fertilizer and the yield.
(A) is true but (R) is false -
(A) is false but (R) is true

of A)

Answer not known

T

GO (A).: guamrmfrr LImF e Ggmlep L, umybuv ﬁr’rurr&szrr .' @mp)asmm
| el Luirsefle c"q,é}as LD&(EeD é]a)l_é;&;'aﬁ%é]mma; CeuSls). '

unu]é&ﬁu@eﬁ]gpg,j. uenflwm sefler Q&wmm;‘s GMDSE, 2L
vwerurl hgdmer HsAuuCsr@ ellearésana b tg{ﬁasrﬁé;aﬂm@.

A) & eyarred R) seim . 5 | -
(A) gmgu' %mm (R) &M | |
(A) mmgum (R) &ifl; e;g,eurrrev (R) Grsmugj (A)a;@ Elﬂu_llTGDT aﬁlms;a;w egb@m

(A) wmgum (R) a=rﬂ c«glpsmrrsu (R) Grezrrugj (A)as@ Efﬂu_HTGOT aiﬂma;asm e

@S]am_ Qg,rﬂwaﬁ]sumcu




188.

7.

Find the missing number :

49, 121, 169, ?, 361
A) 225 / |

@(289/

(E) Answer not known
eflGuLL G_rafzrrmemé) 5aﬁsr@LShq_.
49, 121, 169, ?, 361

4 225 -
(C) 289 |
(E) aflenL Qg,rﬂm_aﬁld)mco'

(B) 256

(D) 324

(B) 256
(D) 324

Find the area of a rectangle one of Whose s1des‘

~diagonal 13 cm..
| (A_),; 74 cm?
(B) 960m2

60 cm?
(D) 56 cm?

(E) ‘Answer not kn‘own

i U 8 B oo 5

1Is 5 cm and

@ Gecieuasdar g ussh 5 Q... Lomguus cwg;em epaaellLn 13 Gs.8. erafle,
Clecueusgdlen LITLIL Smems.

(A) T4 Qs.8.°




189. 94 is divided into two parts in such a way that the fifth part of the ﬁrfc
and the eighth part of the second are in the ratio 3 : 4. Then the first pa

15 _ ' . : ' . |
@ 28 e o
(C) 36 - . (D) 40 S _
(E) Answer not known | <

mpdler @m UGS LHmILD eTLig 67 @@.u@ﬁ aear @m ugdwurs ARssLL

e 94-@ei flsb 3 : 4 crenfled Diper 1PpseD LGS

(B) e QsAweddena |

190., A group of -le’.ctersfare' given. A nume'r'_iclal icode-has been glve/nto eacl
letter. These letters have to be unscrambled into a meaning word. Finc
- out the code for the word so formed from the following. |
RMENBTU.
T ‘ . _¢~¢.¢ R ) T
e T | 12 3 4 5 6
(A) 62_5314 o e ., 'm'(}2531 e
(C) 462315 | (D) 542531
(E) Answer not known |
Tpsgisatiar Gem@iiy qenmy G Cer@ésiiul () 2 drarg). Qeleum(p ‘eT(pSgI&ELD
saigsaflGu  eram (& HuSH aupmEIsLILULR6TeTg.  @50sMGUY  epsgismen
Grbtluwisg wrpilueminssme AumpEsarer eumisamss Sel s, OiGeiTLil,
LElgmas sam® Vs aumismssarar arar GHSHsmTs sreamns, |
| RMENBU
R R
1 2

| | 3 456
W oe314 () 6231
. (0) 462315 ., (D) 542531

. (E) efeni_ Qgrﬂu'aﬂémm,

cCS4T/i022 84
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192.

4191,

- @o@iss Cadmyw Ggrans

(E) aflenL G]‘Q')’lﬂUJQ.S]AGi)Q)GD

A farmer borrowed Rs. 20,000 from a meney lender at 4.5% per anﬁum
in simple interest. The amount paid by him to clear the loan after a
period of 5 years is o -

A) 4500 ~ (B) % 15,500

(C) 17,000 24,500

(E) - Answer not known

‘@@ afleusmd 2 20,000-g QL remEs 4.5% saf quuﬂki) PYGRIL I GTEY

sLairs Lumdlpmi. g

8l BHTESERES e Dfeuir QUG sLaT SiMLES

(4) ¥4500 (B) 215,500
(C) z17000 (D) 224,500

The difference between the 'si'r'npl'e Interest received from two different

. sources on ¥1500 for 3 years is 213.50. The difference between their rate

oy

afgdwnsn T 13.50 crefleh euiiy. aligriseflen fgSwireid

’Ec)' 0.3%
D 04%
(B) Aot Apflucidamm

of interest is
&) 01%
B) 0.2%

D) 0.4%

(E) Answer not known

"

¥ 1,500-65 3 <y ampisaflc 8w Q@d_l@@@ @Lfﬁwsaﬂei) Qs Hen s g,evﬂaJLLoraserﬂGb'r

(&) 0.1%
B) 0.2%




193. Match the following :

(a) - Sarkaria Commission

(b) Rajamannar Committee

(c) Anandpur Sahib

Résohitioh

(d) BommaidJ udgément

@A 1

oy

- © 2

® 3

2

3
1 2
13
2 4

@ B © @

N O

AV (E) Answer not known K

. Glu&@g,g,ja :

(a) srssmAwur %mmmm

(b) t@ungmmmm‘r@@

(©) wiampsiiyt stafln Srorard

(d) Gumbeno Sy

@ 6 (©

@) 1
(B 4
D) 3

X 2:

1
ey

3
Y

4

(E) ofenr Qgrﬂu@ﬁlwmw

- cesatzons

X
4

@

e

" Tamilnadu Govt.

Akali Dal

Supreme Court

Union Government

. sBPETEH SiTETIsL

SI&TE Farid
o §gbdleTnid

WSS i Temiish

ES i
S e e




94, Match the following :

(a) Varaham1h1ra Physician
(b) Kah_dasa

1
2

(¢ Amarasimha 3. Sanskrit Poet
4

Lexicographer

(d) Dhanvantri Astronomer

- (a) .(bj ©) ‘(d) iy e —
w4 3 1 2 |
B 4 2
m | 3
D 3 4
(E) A‘nvs.v’vexv'.not knpwh.

4[\')?—*l—l:
o

B

‘ Qurr@ggj_as.

(a) @Uﬂ&@@[ﬁf. , | ALD@‘QSQJQJH’ :
() ‘énvdﬂ'g,rr&r'rv . él&un@uﬁﬂu_la) cv.cxbéhﬂu_lrr
(©) éiwﬂé}@ém”_ B
(d) seraupdif

. ‘T.IELD_G_TDQ(E‘Q’; LjeveuT

R

’QJrfeoﬂu_lei); é{ﬁﬁ]@ﬂ'

@ ® @© @

@ 4 3
® 4 2
© 4 3
D3 4
B doOsfudoon <

1
13
2

T I -7
. ~ Foonima i e a [Turn over




. iran ' (B) Burhner
(C) Banjar ' (D) Tawa
(E) Answer not known | ,
Semeu(meuameDIGT 6N BTOMS SHDET LS ST GlDET M| A, GLD.
(A)  eflyer’ ‘ - (B) ufar
©) ugsi : . (D) sar
(E) e Qsfueldene

195. th one of the following is the rlght bank trlbutary of Narmada River?
Hi |

196. Match the place of excavation with the district it is located :
Place of excavation - . District
(a) Keezhad1 1 Thoothukudi
(b) Korkai . 7 2. Ariyalur '
(c) Gangalkonda Cholapuram 3.  Thanjavur
(d) Kurumbanmedu 4. - Sivagangai
@ O © @
A 4 - 3 2 1
B3 2 1 4
) 4 1 2 3 i Got 1 8660
™1 4 3 2 |
(E) Answer not known | |
SHPUMTTIES @)L BismeT Siger LD!TQJLL.ﬁ";@]L_G?)T QumTpSEIs.

SASPeUTTTIFS @)L miger LTIl LD
(@) &g L. gissisey
(b) Qsmhens 2. <flwgn®
(c) smes Qarem Gempuyid 3. BEHaFTaUIT
(d) @@LDLJG?IT@LD@? | 4. Hasnes
@ ® ©© @

@» 4 3 2

®3 2 1 4
W& % U - R
D 1 GG g

(E) oo QsMueierena
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3.

A) 1964
©) 1968

7 When was the first National EduCatien Policy formed?

(B) 1946
Griose

(E) AnSWer not known

| w0 GCaflw a;ev@ﬂes Qa;rrmem; GTLINSLITE &@GUIT&SBSULJL_L_QJ?

(A) 1964
(C) 1968

(B o Asfludome

Assertion (A) :

" }Ree'son (R) }

(B) 1946 °
(D) 1986

According to Health and Famlly Welfare pohcy note
2021-2022, the state government has effectively

‘responded to the challenges of Covid-19 without losing

focus on maternal and child care, health initiatives and

services  and other commumcatable dlseases and

nan-communicatable. dlseases

:  The doctor to patient ratlo in Tamﬂnadu 1s-one of the'

hlghest in Indla

( ) )1s true, (R) is false

Both (A) and (R) are true, (R) 1s the correct explanatlon of (A)

adlymssd (A) :

grgenrd (R) :

(C) (A) is false ®R) i is true
(D) Both (4) and (R) are. true but (R) is not the correct explanatlon of (A) |

- (E) Answer not known

a;asrrg,rrgw mmglm @@mu e0d strrmma;es @Oy 12021
2022- @@n L Gemelll Qsmhm Feurelen Gug g,uS]gr)a; D&
Bleayd SApliurs  seang sQIETMS ST LHDID  GRHDS,
ugmofluy ssrsry wpwpélsdt womib GCeaes wHmib G Qsmbm
Crmiser womib bembors Cemised dpvuL Cemauwumpdlug,.
@ pdlurede m@ggj@)@escajm Gg;rrurrerﬂe;@mnem aldlz D Slas
<Flslb 2 drarauppled 5 rp;r)rr@u) @smgu |

(A (A) eamaw (R) LRV

B) (A) wpmib (R) @Umr@m 2_GHTenLD (R) Grsurugj (A) @m erﬂu_meb'r aﬂm&;am o

O @sop®oemwo L
(D) (A) HYILD (R) @Umﬂ@m o ‘G, cﬁx__lpmneu (R) Grarrugj (A) @m &rﬂu_lrrafr L
cflarésd S, L SR / | ,

(E) “ .efﬂe;m__ Qgrﬂu.:eﬁ]svmm

s

8 . CCS4T/2022
: : = - [Turn over -




199. What are looked upon as the “true jewels” for anyone by ThiruValluv§
(A) Love and Virtue

Muinility and Pleasant Words

(©) Knowledge and Powe;j

(D)‘ ' Fandily' Life and Renounced_‘ Life

- (B) (Aln.s_Wer’not known

@@@J@&@‘é s  saflsdsars Bmiuees  erar QUET@haUIT  eTeuhHen

| @@mﬁ]@eﬁdx@nfr? )

@) e opgin

B)  uerfloyd @sin@gmgm

C) <oy a%mmgm

(D) @@wm@m‘@m@b@m
| ‘(,E,)» éﬁim Osfluclome -

o
Wy

 CCS4TiZ022 B



ay

200, Which among the following is/are wrong?

* Political Rights include
(1) Right to vote
(2 Right to hold public office

(3) Not to criticise the goverriment

a0

B Wand©
© (2)and (3)

B o ® only

»('E) vAngwei not known E "

- Epdseim ahg)gjmfﬂa) G@/Grmeu g@mnm@? -.

.emeﬂwsv a_rﬂanuas;en &mmt_a;é]u.@

(1) ,@Jrrasa;aﬂa;@m &,ﬂmm‘.f,

(2) éw&u UGGUﬂgiGTﬂGD ugaﬁ] WElEGD 2 | smo o

(3) wires coidlsas s
@) (D oppi @)
B) (1) oppid @)
©) (@) wppo (3
O @uos

® o Opfiucions

. CCS4;T/_2;022 :




